1

REV@ rtex Gear motors RZVMB ®
RZV.M B HIGH PRESSURE, WITH OUTER GEARING
Serles e High torque

au I ic Gear Moto rs e High volumetric efficiency

o Extruded aluminum body

e The gears have twelve teeth and this keeps both flow pulsation
and noise emission to aminimum

® DU bearings ensure high pressure capability

® Special seals boundary of the high pressure zone

e Cast ron frontand rear covers

e The drive shaft protrudes from the front cover where it is sealed
by the shaftseal

® Serial production withaccurate control of quality

Technical Catalogue

SECTION - MODE OF OPERATION

Rev(©Ort

Innovation+High Performance +Durabi

e

1. Couple of gears

2. Housing

3. Bearings

4. Rear cover

5. Front cover

6. Shaft seal

7. Seal to prevent exeternal leakage
8. Axial clearance compensating seal

Innovation+High Performance +Durability




Rev@rtex (v

DRIVE ARANGEMENTS

The torque is transfered by flexible coupling. Ther emust be no
radial or axial forces to the motor. When the torque is transfered
by V - belt or gear wheel, it is necessary autrigger bearing in

frontcover.

additional bearing

TECHNICAL DATA

GENERAL

DIRECTION OF ROTATION

Clockwise or anticlockwise (looking on shaft). The motor may
only be driven in the direction indicated. Direction of rotation is

marked on the frontcover.

anticlockwise

clockwise

Symbol

Line connection

threaded ports or flanges

Rotation direction

anticlockwise or clockwise

Mounting position

optional

without additional bearing (rad. i axial forces not perm.)

temperature (€ )

Drive mode with torque with additional bearing (radial and axial forces permissible)
Ambient temperature (€ ) -20 ... +40
HYDRAULIC
Displacement cmp 55 8 11 14 16 19 22,5
Torque max (Nm) 16,9 24,5 33,9 43,3 49,5 50,4 59,9
min 500
Speed (rpm) nominal 1500
max 4000 | 3500 ] 3000
nominal (inlet) 210 180
Pressure (bar)
max starting (inlet) 250 210
max (outlet) <5
Filtering fineness 25 ... 150
mineral ol
Working fluid viscosity (mm# s) optimal: 16...90 / intermittent for starting: 800
-20 ... +80

CHARACTERISTIC DIAGRAMS

D -~
() (]

(I/min) —— g

on
o

flow

40

30

20

10

(for oil of 35mm7?%s viscosity, 50C)

205 *
19
16

D

N

\

/o
)

A5

/

7,

O\

i

=

\

0

1000

2000 3000

4000

speed (rpm) ——w»~

p=250 bar
p=20 bar

* p=200 bar

X9 @AY (»




RevOrtex (»

DESIGNATION

RA7PR *

bomba

Size:

F

Displacement:

5=55cm?
8=8cmd
11=11cmd
14 = 14 cm?
16 = 16 cm®
19= 19 cm?®
22 = 22,5 cm?

Drive shaft:

front cover 1, 3, 4, 9, 10 fits into it

front cover 2 fits into it

front cover 7 fits into it

front cover 1, 2, 3, 4 fits into it

front cover 7 fits into it

front cover 5, 8 fits into it

1

G2=H- é@ 2= | &
agp

T

|E| Rotation direction:

L= anticlockwise t )

D= clockwise

@)

’ For drive arrangement
with V - belt or gearwheel

F2 D/D1
Connect /a1 Mkey  3x5JUS M.C2.050
7.2 @
T e
— : [ (@ washer B12 JUS M.B2.110
| ’ | S o
| =SHEEHS 55 @nut M12x1,5 JUS MUB1.601
' = el 2
SFRRTENE S
I~ 5. T %;@ l
ﬁ . ‘5iM— 78 170 N15 Note: Motor with anticlockwise
. ‘ | 7 rotation - as shown in drawing,
= r; i for clockwise rotation inlet and
,d B 25 38 outlet port changed
A
B
_ . Displacement AB Inlet port/ Outlet port c Mass
Designation (omf d/d1 | D/DA1 (kg)
(mm)
RA7PR.F5.A1.F2.L
RA7PR.F5.A1.F2.D 55 “ho] e 15715 28
RA7PR.F8.A1.F2.L
RA7PR.F8.A1.F2.D 8 43,1 93,82 29
RA7PR.F11.A1.F2.L 11 475 98.33 3.0
RA7PR.F11.A1.F2.D
15/20 35/40 M6/13
RA7PR.F14.A1.F2.L 14 47.5 103.13 390
RA7PR.F14.A1.F2.D ' ' '
RA7PR.F16.A1.F2.L 16 475 106,53 3.4
RA7PR.F16.A1.F2.D
RA7PR.F19.A1.F2.L
RA7PR.F19.A1.F2.D 19 475 11,53 36
RA7PR.F22.A1.F2.L
RA7PR.F22.A1.F2.D 22,5 % 116,93 38
D/D1

m1n;at:l.F2

T d/dt

98

@j&s’

72 DIN 5482 B17x14
pre Bl

6,5

[

} |
Y]
080355

T o1

Note: Motor with anticlockwise
rotation - as shown in drawing,
for clockwise rotation inlet and
outlet port changed

; ¥k w"
°°"J1;5T235
9,235
o LA
S S
L
Inlet port/ Outlet port
S Displacement AB Mass
Designation p(cm)'3 d/d1 | D/D1 C P
(mm)
RA7PR.F5.D1.F2.L
RA7PR.F5.D1.F2.D 55 41 89 15/15 2,8
RA7PR.F8.D1.F2.L
RA7PR.F8.D1.F2.D 8 431 | 9332 2,9
RA7PR.F11.D1.F2.L » 775 | 9833 "
RA7PR.F11.D1.F2.D
CATPRFI4DI Fol 15/20 35/40 M6/13
e 14 475 | 103,13 3.2
RA7PR.F14.D1.F2.D
RA7PR.F16.D1.F2.L " 75 | 10853 ”
RA7PR.F16.D1.F2.D
RA7PR.F19.D1.F2.L
RA7PR.F19.D1.F2.D 19 475 | 111,53 36
RA7PR.F22.D1.F2.L
RA7PR.F22.D1.F2.D 22,5 55 | 116,93 38

Xa @Ay (@



Rev@rtex (o)

X31@nY (Y

o D/D1 D/D1
Cannedt. a1 Connect.F2 g/t
) 48 C)@% D key  3x5JUS M.C2.050 30 ,.30 - 7 @D key  3x5JUS M.C2.050
| — ®{ 11,12%) , CT)
} (® washer B12 JUS M.B2.110 o) Pl \I - ® washer B12 JUS M.B2.110
- 3 M | ~
g N\ 2 =E = = N e BT
2, - L) S Iy 1T1T= —| ©
o8 §I~ - S @nut M12x1,5JUS M.B1.601 ' it @{ f S @nut  Mi12x1,5 JUS M.B1.601
G @ Y 4 <8 8 <4 <
- ‘ 12 - \_)@i
% L 218, N18. Note: Motor with anticlockwise g RS s g e NS Note: Motor with anticlockwise
/ rotation - as shown in drawing, 1S e /“‘ ——103] |17 rotation - as shown in drawing,
1 +——1 for clockwise rotation inlet and 51% | for clockwise rotation inlet and
' / 191 397 outlet port changed [@] = [ A 40,5 outlet port changed
c A o maxl2) B
B slfy
. . Displacement AB Inlet port/ Outlet port c Mass . . Displacement AB Inlet port/ Outlet port c Mass
Designation (cmp d/di | D/D1 (kg) Designation (cmf d/d1 | D/D1 (kg)
(mm) (mm)
RA7PR.F5.B2.G2.L RA7PR.F5.A3.F2.L
2,4
RA7PR.F5.62.G2D 55 425 | 89 13,5/135 | 30,2/30,2 M6/13 2,8 RATPR e AS oD 5,5 387 | 762 15/15
el | | we | we ol 1 o | o | we
RA7PR.F11.B2.G2.L RA7PR.F11.A3.F2.L
11 49 98,33 3,0 11 44,5 85,32 2,6
RA7PR.F11.B2.G2.D RA7PR.E:II lzgizf 15/20 35/40 M6/13
RA7PR.F14.82.G2.L 14 49 | 103,13 3,2 AAPRIIS.ZL 14 45 | 90,32 2,8
RA7PR.F14.B2.G2.D 13,5/20 30,2/39,7 M8/13 . A3.F2.
RA7PR.F16.B2.G2.L 16 49 106.53 M6/13 3.4 RA7PR.F16.A3.F2.L 16 45 93,73 3,0
RA7PR.F16.82.G2.D ' ' RA7PR.F16.A3.F2.D
RA7PR.F19.B2.G2.L RA7PR.F19.A3.F2.L
3,6 1 45 98,7 3,2
RA7PR.F19.B2.G2.D 19 49 111,53 ’ RA7PR.F19.A3.F2.D o
RA7PR.F22.B2.G2.L RA7PR.F22.A3.F2.L 205 116.13 35
RA7PR.F22.82.G2.D 225 566 | 116,93 38 RATPR oo ASFo D : 58,6 : ,
D/D1 ) PE—
Connect.G2 d/d1 Connect. d/d1
48 DIN5482 B17x14 7.2 DIN 5482 B17x14
B \ u,
) = N ! 9 [
| 7 55*8 - \/ A5,<4\5° / S -
= L{'Z R 1 oum| | i K 5
: . @ __;E*,‘r% \% == v 48 Note: Motor with anticlockwise
?:m =4 @ Note: Motor with anticlockwise { T rotation - as shown in drawing,
i . 14 s rotation - as shown in drawing, f?ﬁ_)@{ N, for clockwise rotation inlet and
\? e T for clockwise rotation inlet and o o 1 4 Cs) outlet port changed
T 7 outlet port changed e T ‘“HZ:*_::_:__;:*
- S e ]
1912 84 HE c/ A 2
c A g] & maxl2 B
-— g}
B |
) Inlet port/ Outlet port . Inlet port/ Outlet port
. ! Displacement AB C Mass . . Displacement AB C Mass
Designation p(cm)'3 d/di | D/D1 k9) Designation (cmf d/d1 | D/D1 (kg)
(mm) (mm)
RA7PR.F5.D2.G2.L RA7PR.F5.D3.F2.L 24
RA7PR.F5.02.G2.D 5,5 42,5 89 13,5/13,5 30,2/30,2 M6/13 2,8 RA7PR.F5.D3.F2.D 5,5 38,7 76,2 15/15 )
.F8.D3.F2.L
Eﬁ?ﬁ?'ig'gi'gi'é 8 446 | 9332 29 Eﬁ;:zg Fg Dg F2.D 8 407 | 803 2,5
RA7PR.F11.D2.G2.L RA7PR.F11.D3.F2.L
11 49 98,33 3,0 11 44,5 85,3 2,6
RA7PR.F11.D2.G2.D QQ;EEE:‘I:‘B:EZE 15/20 35/40 M6/13
RA7PR.F14.D2.G2.L 14 49 | 103,13 a1 32 T 14 45 | 903 2,8
RA7PR.F14.D2.G2.D 13,5/20 30,2/39,7 . .D3.F2.
RA7PR.F16.D2.G2.L 16 49 106.53 M6/13 34 RA7PR.F16.D3.F2.L 16 45 937 3.0
RA7PR.F16.D2.G2.D ’ ’ RA7PR.F16.D3.F2.D '
RA7PR.F19.D2.G2.L RA7PR.F19.D3.F2.L
98,7 3,2
RA7PR.F19.D2.G2.D 19 49 | 111,53 36 RA7PR.F19.D3.F2.D 19 4
RA7PR.F22.D2.G2.L RA7PR.F22.D3.F2.L 295 116.1 35
RA7PR.F22.D2.G2.D 22,5 56,6 | 11693 3.8 RA7PR.F22.D3.F2.D : 58,6 : :




RevOrtex (»

F2 N "HP‘@
Connect. d/d1
79 ?@T D key  3x5JUS M.C2.050
i,”: ~ M ® washer B12 JUS M.B2.110
— d M~
E e\ = ,"‘i x
T ]
- v & @ nut M12x1,5 JUS M.B1.601
‘01 q 4
L =+— N
o -—=—10 17 Note: Pump with anticlockwise
=] ¢ / rotation - as shown in drawing,
olE 84 c/ A L5 for clockwise rotation inlet and
3 ) max12 B outlet port changed
&7
Desianation Displacement AB Inlet port/ Outlet port c Mass
'gnati (cm?3) ddt |  D/D1 (kg)
(mm)
RA7PR.F5.A4.F2.L
RA7PR.F5.A4.F2.D 55 387 | 762 15/15 24
RA7PR.F8.A4.F2.L
RA7PR.F8.A4.F2.D 8 407 | 8032 2,5
RA7PR.F11.A4.F2.L 11 445 8532 26
RA7PR.F11.A4.F2.D
15/20 35/40 M6/13
RA7PR.F14.A4.F2.L 14 45 90.32 o8
RA7PR.F14.A4.F2.D ‘ ’
RA7PR.F16.A4.F2.L 16 45 93,73 3.0
RA7PR.F16.A4.F2.D
RA7PR.F19.A4.F2.L
45 98,7 3,2
RA7PR.F19.A4.F2.D 19 ’ ’
RA7PR.F22.A4.F2.L
22,5 116,13 3,5
RA7PR.F22.A4.F2.D ’ 58,6 ’ ’
D/D1
2
Connect.Ff L d/d1
R >}
72 . DIN 5482 B17x14
o) ﬁ&/ ©
= [<e]
= Ef i, ‘45:,—— — _/ ® )
= L. __1[%
3 q ‘% \@{ = ©
%{ ﬁ@ﬁ ~ Note: Pump with anticlockwise
- B e 14 o) rotation - as shown in drawing,
L/Ej:fﬁf - for clockwise rotation inlet and
2 / outlet port changed
S(E 84 c/ A 2
=e maxi2| | B
+ [d
Ig
7
Desicat Displacement AB Inlet port/ Outlet port c Mass
esignation (cm?d) d/d1 | D/D1 (k)
(mm)
RA7PR.F5.D4.F2.L
RA7PR.F5.D4.F2.D 55 387 | 762 15715 24
RA7PR.F8.D4.F2.L
RA7PR.F8.D4.F2.D 8 407 | 803 2,5
RA7PR.F11.D4.F2.L 11 44,5 85,3 26
RA7PR.F11.D4.F2.D
15/20 35/40 M6/13
RA7PR.F14.D4.F2.L 14 45 00.3 o8
RA7PR.F14.D4.F2.D ’ )
RA7PR.F16.D4.F2.L
3,0
RA7PR.F16.D4.F2.D 16 45 93,7
RA7PR.F19.D4.F2.L
RA7PR.F19.D4.F2.D ° 45 | 987 3.2
RA7PR.F22.D4.F2.L
22,5 , ,
RA7PR.F22.D4.F2.D 566 | 1161 35

- D/D1
Gonnect. a/d1
30 .30 00 12
= : o D O0-ring  46,3x2,4
ol =l ¢
) L - | o ZF
=~ (N i Y 1
4 b& 450 }—1
1 f g T N o .
1 [P Note: Motor with anticlockwise
= @ kY rotation - as shown in drawing,
“ <] { \)@i v for clockwise rotation inlet and
<4 M~
& - o outlet port changed
N
i) @ [ S s i i —
s X/ W i
o
= £l 84 C 2,7 the motor is without shaft seal
=S 6.5
Py
E 3 B A
57 R
. . Displacement AB Inlet port/ Outlet port c Mass
Designation (cm?) d/d1 | D/DA1 (kg)
(mm)
RA7PR.F5.F5.F2.L
RA7PR.F5.F5.F2.D 55 387 | 782 15/15 24
RA7PR.F8.F5.F2.L
RA7PR.F8.F5.F2.D 8 40,7 80,32 25
RA7PR.F11.F5.F2.L 11 445 8530 26
RA7PR.F11.F5.F2.D 15/20 35/40 M6/13
RA7PR.F14.F5.F2.L 14 45 90.32 o8
RA7PR.F14.F5.F2.D ’ '
RA7PR.F16.F5.F2.L 16 45 93.73 30
RA7PR.F16.F5.F2.D ’ ’
RA7PR.F19.F5.F2.L
2
RA7PR.F19.F5.F2.D 19 40 98,7 N
RA7PR.F22.F5.F2.L
22 104,1 4
RA7PR.F22.F5.F2.D 0 52,6 04,13 3
F2 b/D1
Connect. e 1
110X i Q
12,5
| ] @ key A4x4x20 JUS M.C2.060
TNl ol
i [ -

[N

Note: Motor with anticlockwise

X 6,2 rotation - as shown in drawing,
B for clockwise rotation inlet and
L outlet port changed
) 32
; ‘ .— 734—4
L 127 ]
. AB Inlet port/ Outlet port
Designation Dlsplacesment a/d | D/DA C Mass
(em?) (kg)
(mm)
RA7PR.F5.C7.F2.L
3,1
RA7PR.F5.C7.F2.D 55 411 | 909 15/15 :
RA7PR.F8.C7.F2.L
RA7PR.F8.C7.F2.D 8 43,29 5 3.2
RA7PR.F11.C7.F2.L
11 47 100 3,4
RA7PR.F11.C7.F2.D 15/20 35/40 M6/13
RA7PR.F16.C7.F2.L
47,5 108,4 3,6
RA7PR.F16.C7.F2.D 16
RA7PR.F19.C7.F2.L
RA7PR.F19.C7.F2.D 19 47,5 13,4 3.7
RA7PR.F22.C7.F2.L
RA7PR.F22.C7.F2.D 225 551 | 1188 38

Xa@QN3Y (o



RevOrtex @

D/D1 12,5
1
~| @ key Adx4x20 JUS M.C2.060
- = ~ 3
= o g
T~ a0 o
8 7T ] 3
&_JJ ‘_ o Note: Motor with anticlockwise
62 rotation - as shown in drawing,
- ! for clockwise rotation inlet and
. outlet port changed
A
A 32
B
Desianati Displacement AB Inlet portO utlet port Mass
esignation (cmp DD o 1 (kg)
RA7PR.F5.C7.H2.L
3,1
RA7PR.F5.C7.H2.D 5,5 411 90,9 M16x1,5M 16x1,5
RA7PR.F8.C7.H2.L
RA7PR.F8.C7.H2.D 8 43,23 95 M22x1,5M 22x1,5 3,2
RA7PR.F11.C7.H2.L
RA7PR.F11.C7.H2.D 1 47 100 3.3
RA7PR.F14.C7.H2.L
47,53 3,5
RA7PR.F14.C7.H2.D 4 10
RA7PR.F16.C7.H2.L
RA7PRF16.C7 H2.D 16 47,5 108,4 M22x1,5M 27x2 3,6
RA7PR.F19.C7.H2.L
113,4 ,
RA7PR.F19.C7.H2.D 19 47,5 37
RA7PR.F22.C7.H2.L
RA7PR.F22.C7.H2.D 22,5 551 1188 38
Eo D/D1
Connect. d/d1 16/32 SAE J 498B
125,62 [729.4=30°
o
e N / q.—
w
{ =y 45 &
A==t 1 1S o .
‘ Lg_; D °§ Note: Motor with anticlockwise
L_| ' rotation - as shown in drawing,
9501 b0 for clockwise rotation inlet and
+ 14 L1_7. outlet port changed
c A 315
B
. Inlet port/ Outlet port
—— Displacement AB c Mass
Designation (cmf d/d1 (mm)| D/DA (kg)
RA7PR.F5.E7.F2.L
2,8
RA7PR.F5.E7.F2.D 55 411 | 909 15/15 ’
RA7PR.F8.E7.F2.L
RA7PR.F8.E7.F2.D 8 43,2 95 2,9
RA7PR.F11.E7.F2.L
RA7PR.F11.E7.F2.D B 47 100 1575 85740 V61 30
RA7PR.F14.E7.F2.L 14 475 105 39
RA7PR.F14.E7.F2.D ’ ’
RA7PR.F16.E7.F2.L
47,5 , 3,4
RA7PR.F16.E7.F2.D 16 108,4
RA7PR.F19.E7.F2.L
RA7PR.F19.E7.F2.D 19 47,5 13,4 3.6
RA7PR.F22.E7.F2.L
RA7PR.F22.E7.F2.D 22,5 551 | 1188 41

R47 11(2x) D/D1 125 6,2 16/32 SAE Jf@B
/z=9, (=30
s
0
N 7. | el5 8
I g | I et RS Note: Motor with anticlockwise
: 77 == N rotation - as shown in drawing,
L { ,‘3 ; °§ for clockwise rotation inlet and
M L outlet port changed
) 17
A 31,5
. Inlet portOu tlet port
S Displacement AB Mass
Designation
9 (cmp D ) D1 (ka)
RA7PR.F5.E7.H2.L
3,1
RA7PR.F5.E7.H2.D 5.5 41,1 | 909 | M16x15 M16x1,5 :
RA7PR.F8.E7.H2.L
RA7PR.F8.E7H2.D 8 43,29 5 M22x1,5 M22x1,5 3,2
RA7PR.F11.E7.H2.L
RA7PR.F11.E7.H2.D B 47 | 100 3.3
RA7PR.F14.E7.H2.L
RA7PR.F14.E7.H2.D 4 47,5 | 105 3.5
RA7PR.F16.E7.H2.L
47,5 108,4 3,6
RA7PR.F16.E7.H2.D 16 08 M22x1,5 M27x2
RA7PR.F19.E7.H2.L
RA7PR.F19.E7.H2.D ° 475 | 1134 8.7
RA7PR.F22.E7.H2.L
RA7PR.F22.E7.H2.D 225 551 | 1188 3.8
Connect. F2 2;311
%7
72 /@ D O-ring  46,3x2,4
2 t
D 8g
) = V24 Ee Note: Motor with anticlockwise
‘ — — v rotation - as shown in drawing,

for clockwise rotation inlet and

6,5 outlet port changed
84 N 11,9
104
. Inlet port/ Outlet port
N Displacement AB C Mass
Designation
9 (cmp d/di |  D/D1 (k)
(mm)
RA7PR.F5.F8.F2.L
PR FaFaD 55 386 | 852 15/15 2,4
RA7PR.F8.F8.F2.L
RA7PR.F8.F8.F2.D 8 406 | 893 2,5
AATPAFIT T8 Fa 1 4a5 | o4 26
- — 15/20 35/40 M6/13
RA7PR.F16.F8.F2.L 16 45 102,7 3.0
RA7PR.F16.F8.F2.D
RA7PR.F22.F8.F2.L
RA7PR.F22.F8.F2.D 225 58,5 | 1252 38

xa @3y @



Rev@Ortex

WARNING
%0 Connect.F2 -— +% Errors in the selection or use of the products and / or systems described, can cause serious personal injury and property damage.
7 \ D K It is critical that all aspects of the application and the operating conditions and products chosen are analyzed and re-examined.
8 g ? @ key 4x6,5 JUS M.C2.050 Making own tests and evaluations, the user is the only one able to ensure compliance with performance, safety and cautionary
. I 2 use requirements.
(\&[/ ! @ washer B14 JUS M.B2.110 The general sales conditions are provided by Revortex in the sales offer and in the order confirmation.
= | N~ Technical information, drawings, images and material characteristics in this catalog are just informative.
| | 81___\:',@:9 §§ Certifications or declarations must be required during the offer request phase.
s o ol ' ! ©; % ® nut M14x1,5 JUS M.B1.601 The logo is owned by Revortex.
- % *-F -+ 1. < Descriptions, materials, product catalogs and price lists can be changed at any time without previous information.
B B
i _ﬁiﬁy_ 95| 1921 N1s
vz Note: Motor with anticlockwise
= S rotation - as shown in drawing,
J25, 45, for clockwise rotation inlet and
G A outlet port changed
B ——
Desianati Displacement AB Inlet port/ Outlet port c Mass
esignation (cm?) d/di | D/Dt (kg)
(mm)
.F5.A9.F2.L
T 55 726 | 1192 15/15 34
RA7PR.F8.A9.F2.L
RA7PR.F8.A9.F2.D 8 747 121,53 35
RA7PR.F11.A9.F2.L
RA7PR.F11.A9.F2.D B & 126,53 36
35/40 M6/13
RA7PR.F16.A9.F2.L 16 2o | 1aa0a] % 10
RA7PR.F16.A9.F2.D ’ ’
RA7PR.F19.A9.F2.L
7 134,94 4.2
RA7PR.F19.A9.F2.D 9 9 349 ’
. /D1
Connect.F2 d/d1
\ & 13 Da Dkey  4x6,5JUS M.C2.050
; | ®
. & | ] T - @ washer B14 JUS M.B2.110
5 - 88 ~
- e He 0%
! X ﬁ_ﬁ B nut M14x1,5 JUS M.B1.601
ol 3 | /\® <. !
{ = ‘5‘ AN, | 4
RIS ' 102| N15
1T = L 149 Note: Motor with anticlockwise
i = rotation - as shown in drawing,
v for clockwise rotation inlet and
20 54 ; outlet port changed
c AT 885 P g
B
oo Outiet ot revortex.eu
I Displacement AB niet port/ Lutiet po Mass
Designation p(cm3) d/d1 | D/D1 C P
(mm)
RA7PR.F11.A10.F2.L
64,5 113,8 17,9
BATPRFTT ATOF2D " LT dene | oasao | wens |
TP 1191 19,1
RA7PR.F14.A10.F2.D 14
RA7PR.F16.A10.F2.L
1 65,5 122,5 21,3
RA7PR.F16.A10.F2.D 6 Revortex srl
mxgﬁg-ﬁ]g-g; 19 1275 243 Sede legale: Via 55 - Villanova di Castenaso - BO - Italy
RA7PRF22 A10.F2.L ot Taio . Sede produttiva: - Moalinella - BO - Italy
RA7PR.F22.A10.F2.D ’ 786 ’ ’ info@revortex.eu -

PI 03738231202




